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Problem 1.
1.	(A1.2)  ¬ Breezy([1,1]) ⇔ ¬ Pit([1,2]) ∧ ¬ Pit([2,1])
	(A1.3)  ¬ Breezy([1,2]) ⇔ ¬ Pit([1,1]) ∧ ¬ Pit([2,2])
	(A1.4)  Breezy([2,1]) ⇔ Pit([1,1]) ∨ Pit([3,1]) ∨ Pit([2,2])

2.	(A1.2.1)  ¬ Breezy([1,1]) ⇒ ¬ Pit([1,2]) ∧ ¬ Pit([2,1])
			Breezy([1,1]) ∨ (¬ Pit([1,2]) ∧ ¬ Pit([2,1]))
			(Breezy([1,1]) ∨ ¬ Pit([1,2])) ∧ (Breezy([1,1]) ∨ ¬ Pit([2,1]))
	(A1.2.1.1)	Breezy([1,1]) ∨ ¬ Pit([1,2])
(A1.2.1.2)	Breezy([1,1]) ∨ ¬ Pit([2,1])

	(A1.2.2)  ¬ Pit([1,2]) ∧ ¬ Pit([2,1]) ⇒ ¬ Breezy([1,1])
			¬ (¬ Pit([1,2]) ∧ ¬ Pit([2,1])) ∨ ¬ Breezy([1,1])
			Pit([1,2]) ∨ Pit([2,1]) ∨ ¬ Breezy([1,1])

	(A1.3.1)  ¬ Breezy([1,2]) ⇒ ¬ Pit([1,1]) ∧ ¬ Pit([2,2])
			Breezy([1,2]) ∨ (¬ Pit([1,1]) ∧ ¬ Pit([2,2]))
			(Breezy([1,2]) ∨ ¬ Pit([1,1])) ∧ (Breezy([1,2]) ∨ ¬ Pit([2,2]))
(A1.3.1.1)	Breezy([1,2]) ∨ ¬ Pit([1,1])
(A1.3.1.2)	Breezy([1,2]) ∨ ¬ Pit([2,2])

	(A1.3.2)  ¬ Pit([1,1]) ∧ ¬ Pit([2,2]) ⇒ ¬ Breezy([1,2])
			¬ (¬ Pit([1,1]) ∧ ¬ Pit([2,2])) ∨ ¬ Breezy([1,2])
Pit([1,1]) ∨ Pit([2,2]) ∨ ¬ Breezy([1,2])

	(A1.4.1)  Breezy([2,1]) ⇒ Pit([1,1]) ∨ Pit([3,1]) ∨ Pit([2,2])
			¬ Breezy([2,1]) ∨ Pit([1,1]) ∨ Pit([3,1]) ∨ Pit([2,2])

	(A1.4.2)  Pit([1,1]) ∨ Pit([3,1]) ∨ Pit([2,2]) ⇒ Breezy([2,1])
			¬ (Pit([1,1]) ∨ Pit([3,1]) ∨ Pit([2,2])) ∨ Breezy([2,1])
			(¬ Pit([1,1]) ∧ ¬ Pit([3,1]) ∧ ¬ Pit([2,2])) ∨ Breezy([2,1])
			(¬ Pit([1,1]) ∨ Breezy([2,1])) ∧
   (¬ Pit([3,1]) ∨ Breezy([2,1])) ∧
   (¬ Pit([2,2]) ∨ Breezy([2,1]))
	(A1.4.2.1)	¬ Pit([1,1]) ∨ Breezy([2,1])
	(A1.4.2.2)	¬ Pit([3,1]) ∨ Breezy([2,1])
	(A1.4.2.3)	¬ Pit([2,2]) ∨ Breezy([2,1])

(K1)		¬ Breezy([1,1])
(K2)		¬ Breezy([1,2])
(K3)		Breezy([2,1])
(¬C)		¬ Pit([3,1])

So, in summary:
(A1.2.1.1)	Breezy([1,1]) ∨ ¬ Pit([1,2])
(A1.2.1.2)	Breezy([1,1]) ∨ ¬ Pit([2,1])
	(A1.2.2) 	Pit([1,2]) ∨ Pit([2,1]) ∨ ¬ Breezy([1,1])
(A1.3.1.1)	Breezy([1,2]) ∨ ¬ Pit([1,1])
(A1.3.1.2)	Breezy([1,2]) ∨ ¬ Pit([2,2])
	(A1.3.2)  	Pit([1,1]) ∨ Pit([2,2]) ∨ ¬ Breezy([1,2])
	(A1.4.1)	¬ Breezy([2,1]) ∨ Pit([1,1]) ∨ Pit([3,1]) ∨ Pit([2,2])
	(A1.4.2.1)	¬ Pit([1,1]) ∨ Breezy([2,1])
	(A1.4.2.2)	¬ Pit([3,1]) ∨ Breezy([2,1])
	(A1.4.2.3)	¬ Pit([2,2]) ∨ Breezy([2,1])
(K1)		¬ Breezy([1,1])
(K2)		¬ Breezy([1,2])
(K3)		Breezy([2,1])
(¬C)		¬ Pit([3,1])

Resolution steps:
	(A1.4.1)	¬ Breezy([2,1]) ∨ Pit([1,1]) ∨ Pit([3,1]) ∨ Pit([2,2])
(¬C)		¬ Pit([3,1])
	(R1)		¬ Breezy([2,1]) ∨ Pit([1,1]) ∨ Pit([2,2])

	(R1)		¬ Breezy([2,1]) ∨ Pit([1,1]) ∨ Pit([2,2])
(A1.3.1.1)	Breezy([1,2]) ∨ ¬ Pit([1,1])
	(R2)		¬ Breezy([2,1]) ∨ Pit([2,2]) ∨ Breezy([1,2])

	(R2)		¬ Breezy([2,1]) ∨ Pit([2,2]) ∨ Breezy([1,2])
(K3)		Breezy([2,1])
	(R3)		Pit([2,2]) ∨ Breezy([1,2])

	(R3)		Pit([2,2]) ∨ Breezy([1,2])
(A1.3.1.2)	Breezy([1,2]) ∨ ¬ Pit([2,2])
	(R4)		Breezy([1,2])

	(R4)		Breezy([1,2])
(K2)		¬ Breezy([1,2])
	(R5)		{  }
[bookmark: _GoBack]	Empty set achieved, proof by refutation holds, and therefore C is entailed by our Knowledge Base.






